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QUESTION 1

In the 802.11 frame, when the network uses the WDS model for signal transmission, what are the values of To DS and
From DS, respectively?

A.0,0
B.0,1
C.1,0
D.11

Correct Answer: A

QUESTION 2

In the TKIP encryption mode, the length of the IV vector is bit.
A. 12

B. 24

C. 48

D. 64

Correct Answer: C

QUESTION 3

TKIP encryption is more secure than WEP encryption because (Select 3 Answers).
A. Adopt a longer IV

B. Added a key distribution mechanism, no longer using a single key

C. Adopting a more complex encryption algorithm

D. Using a stronger data verification algorithm

Correct Answer: ABD

QUESTION 4
What are the reasons why APs cannot go online (Select 3 Answers)?

A. The configuration of the DHCP address pool is incorrect. The AP cannot obtain the address.
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B. The AP uses static discovery but the IP address of the AC is incorrect.
C. AP is inconsistent with the version of AC.
D. The controller adopts no-auth authentication mode.

Correct Answer: ABC

QUESTION 5

20dBm is equivalent to mW.
A. 100

B. 200

C. 500

D. 1000

Correct Answer: A
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